1742443

—969.8050—|

This Is_output of Invertor AUTIDESKO
very different forn

BT thar et you can T dpe: orighal leyout st dinension

37385

SUGGESTED FLAT PATTERN
N HALF CONE

% 1 4hink ¥ | an able 40 adjust the bend (Dinension 4inn, B3mn, 49ne)
1| Wil have the sane output as required.
2192,6147
(=3
&
2 ee14ad06
[
Is cutput of kwenrtor
o
&
o S
8 16847668 &
Da— n
]
Lesz.
——=7219;
969! Orighat

I want these dinensions exact
I think I | an oble to adjust the bend Cinension 4inn, E3nn, 45>
I an not able to adjust the bends in Inventor.




